SHEYIM T[t=15cmBLTF] L=55m

H

oI

X

—#

1/500(A3)

HEFER )

ST T [t=15cmELF) L=6.0m

HEYIB T [t=15cmlLT] L=6.0m

L=140.2m

IR UIBT T [t=15cmA T )

IR T [t=15cmA ] A=9229m (932.4-9.5)

EBRFEISREEHETS

I%%

Eskiag WEF@ER (1)

#aR $=1/500 ‘ HEES ‘ 1/ 4
Z T AT R AR BRI

EREL




SRR T[t=15cmELTF]

AT (2)

LRI T(t=15cmEA ]
SHE R T (t=15cmEAT]

1/500(A3)

AR T[t=15cmLlLF)] L=6.3m

L=210.8m

A=1305.9m (1313.3-7.4)

A
e
Nl
@ e

x
S

230, &%

© #£350

SHEEIRYIBT T[t=15cmBLTF) L=6.0m

I%% EBRFEISREEHETS

Eskiag WEFEE )

R $=1/500 ‘ HE&ES ‘ 2/ 4
EREL Z T AT R AR BRI




XER[ P RER)IELE-15cm-BE L=15m

RE#R (1AM SE]RR-45cm-BE  L=24.0m

RER [P RER]IER-15cm-EHE  L=2.9m

XE#R[{Z LR ]ER -45cm- B L=2.75m

SHEIFEE () 1/500(A3) 4

X EfR[EESE] =R -45cm- A E L=23.1m

REHZE[OLIE)EE 15cm-Bf® L=16.52m

REE[TFR]IEE - 15cm-BHE L=54mX2

RERITFRIES - 15cm-Bf L=54mX2

REZE[OLIE)EE - 15cm-Bf L=16.52m

REHRIRITIXF 15cm- B L=15.34m

REE[RITIXF - 15cm- B8 L=15.34m

RERR[PREFIELR-15cm-AE
‘ ‘ XE R R 4R IR 15cm-EHE L=45.0m

‘ L=28.3m
FEEFT [RM-25 t=30mm) A=9229m (932.4-9.5)
HET [BEASEREAS20 7544 t=50mm] A= 922.9m (932.4-9.5)
*®ET [BEZHEAS20 499 t=50mm] A= 922.9m (932.4-9.5) ‘ T4 EEEISRARRETS
Eskiag FEFE@EE (1)
mR $=1/500 ‘ HEES ‘ 3/ 4
ExER RHHE TR HEREREA)IEE




e ETETFmEmE(2) 1/500(A3)

REF[&EETIXFE - 15cm B L=244m

AA—0yF 7709 TRE-BHRE) A=23m

RERRIRITIXEFE 15cm-BE L=15.34m

‘ YO e j v RES [ d 48 )48 - 150m & L=100.0m ‘
RERET [RM-25 t=30mm) A=922.9mF (932.4-9.5)
IXZ BARLFRABERELIS
HET [EARIEAS20 7544 t=50mm] A=9229m (932.4-9.5) @S HETEE (2
‘ =BT (FABHEA20 495 t=50mm] A= 9229 (932.4-95) ‘ R S=1/50 ‘mﬁ‘ ‘ot
| J BEER RHHE TR HEREREA)IEE




